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(P/G)

10 DIM AC3.3).B(3.3).0(3.,3
20 FORI =1 17103
30 FOR J =1 T0O 3

40 READ ACI.JJ.B(1.J)

ol C(I,J) = ACT.J3 + BCL.D

60 NEXT J

1@ NEXT 1

80 FORK =1 T0 3

990 PRINT C(K.1):SPC(Z2):C(K.2)
$HPLC2):C(K, 3

100 NEXT K

110 END

120 DATA 11.17.18.11.17.16,13.13,
12.15,19.19.12.14,15.18.

16.12

73 80 94 2 | @y

(P/G)

i® REM SUMMATION
20 DIM D(5.5)

30T =20
4 FORTI =1 TO S
o0 FOR J =1 T0 5

60 READ D(I,J}
T =T+ D,

80 NEXT J.1
90 DATA 95.92.78,77.85.81,90.91,
18,89
100 DATA 90,95.82.87.76,96.86.93,
10,713

116 DATA 73.80.94.72.719
120 PRINT "TOTAL = " = T
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(23)
TOTAL = 2102

845 9z OX ¥k g Fiste P/G
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9 10 11 @
13 14 @ 16
17 19 20
@ 22 23 24
(P/G)

10 DIM A(4,4)

20 FOR I=1 TO 4

0 FOR J=1 TO 4

40 READ A{I,J)

SO NEXT J,1

60 DATA 9,10,11,12,13,14,15,

Ty

15,1f~18,1@,2u,:1uh*a

2T, 24

70 I8=0

g0 FOR I=1 TD 4
90 IG=IG+A(T,5-1)
100 NEXT I

110 FRINT IS

1260 END

FUN

(A=)
ks

(2H4) o3 22 ¥ 25 ReadF 2.2 9
3 Az AL wFe] =EAEAIE P/GE A4

4 2. (5} Dim=%, Read®, for—~NEXTE o]
A5 R,

Data {1 2 3 4
5 6 7 8

9 0
(P/G)
10 CLS
20 DIM A3, 4)
30 FOR I =1 T0 3

-5~

40 FOR J =1 T0 4

50 READ A(I, J)

60 PRINT A(L, D);

70 NEXT J:PRINT:NEXT I

80 DATA 1,2,3,4,5,6,7,8,9,0,1,2

90 PRINT:PRINT:PRINT:PRINT* After....
:PRINT: PRINT

100 FOR I=1 TO 4
110 FOR J=1 TO 3
120 PRINT A(J, I);
130 NEXT

140 PRINT

150 NEXT

(A=)

(2) GOSUB -+ RETURN &

AdEY 4 2299 (Subroutine Subprog-
ram)-& F g o g el o 9] g ’I'(Pa—
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2

744 AEe X Z2odolely £ <= 9ok
n GOSUB nl

nl (£ =Z2o)
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®GOSUBs RETURNS zg FW g v}
HHe] el 4 sl

(BAH|5) thS P/GE 3 dlwd Asts ofv
37} (GOSUB~Return -#4).

(P/G)

10 FOR I=1 TO 2

20 HEOSUR 200

I0 BOSUER Z00

40 NEXT I

30 END

200 REM SURFPROGRARF-1

=10 FRINT "BEBEERRE"; TAR(15)
; "HERRBEBR"

220 RETURN

B0 REM SUBPROGRAM-Z

2210 FOR J=1 TO =

IF0 OPRINT "E By
"R B

JEIQ NEXT J

Z40 RETURMN

TARE{1%)

RLIN
(A =k

ERREERR HEBERE
B o B K
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BEEEEE EBEBEBER
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E E = B
B |5 B E

(Bx6) TXE 9™sle] of+od & “PLUS”

S+ @ “MINUS”, 0% = “END"glz =3
E gl= P/GE A5k £ (GOSUB~ Return
T o] g A).

(P/G)

10 INPUT A

20 TF AX0 THEN GOSUB 200
30 IF A<® THEN GOSUB 400
49 IF A=@ THEN GOSUB 600
o0 END

200 PRINT "PLUS”

210 RETURN

400 PRINT "MINUS”

410 RETURN

60 PRINT "END”

619 RETURN

(Asb)

RUN RUN RUN
P90 7?7 -31T 70
PLUS  MINUS  END
Ok Ok Ok

(3) At} &

il
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4l 1. DEF FN&

o] M HEL A La} g
ook, el ol B Wt
Sl Aokl o,

gk, #o]& oloje] wels FNAREE FNZ
7h2] 2670 Rk 2 A= QI E g}

% =4 3= (Function Definition)-<
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(BR7) 93¢ 9 o]& R%Z Nz =l
2 ol Fshe 749 A gAE Tk P/G ¥
A5k 2 (E S=A(1+R)"E o1 4T A,
A=A, P=2%F, r—o[&, n=717}).

(P/G)

10 DEF FN S{X)=S%{1+R/100)"N

20 INFUT "FRINCIFAL":S

=0 INPUT "INTEREST":FR

40 INFUT "YEAR"3:N

50 FPRINT "PRINCIFAL=";S,
"INTEREST="3R;"%" ,
"YEAR=" 3N

60 FPRINT "THE AMOUNT WITH
INTEREST ADDED IS *
iFN S(X)

70 END

RUN

(A=)
FRINCIFAL? 10000
INTEREST? 7.5
YEART? 8 :
FRINCIFAL= 10000
INTEREST= 7.3 %
THE aAMOUNT WITH INTEREST
ADDED IS 17571.035

(2H8) N D2 vbrae A9 oA e
FoE BFE AT L BFE o g3 o
WA g Tt P/GE e,

(P/G)

10 REM A FUNCTION TO FIND
REMAINDER

20 DEF FNR(N,D) = N-INT{N/D)

*D

=0 INPUT N, D

40 FRINT Nj;Dj"REMAINDER=
"AFNR(N,D)

50 GO TO 30

50 END

RLIN

(Ash)

? EE,7
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23 7 REMAINDER= 5
2 ERTAET .5
ZI7A7 B REMATNDER= 2

(2H|9) sin(X) *cos(X)2 2o < T
sk P/GE Z4dsha) L

P/G)

10 DEF FN C(Y) = SIN(Y)
¥COS(Y)

20 Max = o

Z0 DEF FN H(Y) = X / 180 X

3.1415%
40 FOR X = O TO 90 STEF 10
B0 IF FN C(FM H(X) ) > MAX
THEN MAX = FN C(FN H(X} )

60 NEXT X

70 FRINT "MAX="3iMAX

BO ERND

RUM

(A=h
MAX= .4924041

(2(10) 0°l 4 90°7hx] 5°7kA L2 sinz}
cos®| gg THHe P/GE AHAEFE ol 4
shef ZHAsHAl 2

P/G)

100 P = 3.14159126%

119 DEF FN D(X» = X ¥ P ~ 180

120 DEF FN S(X3» = SIN ¢ FN DCX))
138 DEF FN V(X) = COS ¢ FN D(X))
140 PRINT "DEGREES”."SINE”.”COSINE”
150 FOR X = 0 TO 80 STEP S

168 PRINT X.FN S(XJ.FN V(X)

170 NEXT

180 END
=)
DEGREES SINE COSINE
0 @ 1
a 8 .7195T1E-02 .9961948
10 17364381 9848019
19 .228813 .9659259
20 . 34202 .9396928
29 4226181 9063079
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30 4989998 . 8660236
30 .0139'163 8191522
40 642718713 . 1660447
43 L T071066 STl
ob . 1660442 6427188
94 81910519 0139768
60 . 8660252 . S0000V4
65 .40630776 AZ26187
10 8396926 . 3420206
I . 9659257 . 2088195
80 9848018 . 1736488
89 .9961946 8 ."119639E-02
90 1 6.715444E-07

o] 2. DEFINT/SNG/DBL/STR &

gt ok v ast e Fu e el
L m¥Eo 2 DEFINT, DEFSNG, DEFDBL.
DEFSTRo] 9)t}.

of 714

- DEFINT o] 3ol A}f-5= =
& 4= (Integer Varlable)f‘r_ 7}

. DEFSNG o] e 185t
A5 (Single) Ay H¢g FEe)

- DEFDBL o] %] A-85& ZE W4t 5
2] % F%=} (Double Precision) & 7+3-%

*DEFSTR | %] AfgHe d4e 2T &
2P (String Variable) & zhsic}

W-ﬂ dn

¥ (RANDOM NUMBER)
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(2H11) o& P/CG2 A5 242 (& Int

= A

(P/G)

10 FOR I=1 TO 5

20 PRINT INT(RNDX1O0);
IO ONEXT

FLIN

@3
219 &3 86 T3

(212) =+ P/Go ZakE £4]¢ (kDB
L&)

(P/G)

10 DEFDREL. L
20 LOW=49/6
30 FRINT LLOW
40 END

FLIN

(A=)
8. 1656669845081 04

(8H13) vk P/G2] AE 242 & ST

R-Z &=k4).

1‘-{13
ol

10 DEFSTR A-D

20 A="HI"

IO B="HOW"

40 Cw="ARE"

50 D="vYOU»

&0 FRINT Ay "7?"3;Bi""303"" 3D
70 END

RUN

(=)
HITHOW ARE Y(OU
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